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Oxygen Isotopes
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About 75% of naturally-occurring chlorine is chlorine-35 (*Cl)
and 25% is chlorine-37 (*'Cl)
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NATURAL ISOTOPES OF CARBON
— 6 Protons r— 6 Protons o [: 6 Protons
*—/ 6 Neutrons ~—{ 7 Neutrons ~eo—/_ 8 Neutrons
-/ ey _._/' 234U 235U 238U
{ @ ) { @ ) { ! 234.04094 235.04392 238.05078
‘ 1%=246,000 yrs | | =704 million yrs | |t%4=447 billion yrs
0.0055% 0.720% 99.2745%
: : : Radioactive Radioactive Radioactive
Carbon-12 Carbon-13 Carbon-14
(6P + 6N) (6P + 7N) (6P + 8N)

Atomic Weight = 12
Isotope Mass: 12u
Abundance: 98.89%

Atomic Weight = 13
Atomic Mass = 13.00335 u
Abundance: 1.109%

Atomic Weight = 14
Isotope Mass: 14003241 u
Abundance: 1 Part Per Trillion
Half-life: 5,730 £ 40 Years



